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GB 3743.2—83

ICE:
ﬁg ﬁf d d | d, 4 | d b, ! R, d
4 3
M10x1
5 | Mlox1 3, 14 8. 10.5 2.5 8 1
6 4 M12x1.25
8 | MIi2x1.5 6 16 9. 12.5 M14x1.5
10 | Mu4x1.5 8 18 | 11. 14.5 MI16%1.5
12
12 M16x1.5 | 10 21 13. 16.5 M18x 1.5
_ 4 1.2
14 Mi8x1.5 | 12 23 | 15, 18.5 M20% 1.5
16 14 M22x 1.5
G M22x1.5 27 | 19. 22.5 14
(250) | 18 15 M24%1.5
20 17 M27% 1.5
M27x2 34 | 24 27.5 16
22 19 M30x 2
25 22 M33%2
: M33x2 39 | 30 33.5 18
28 24 M36 %2
5 1.6
32 27 M42 %2
M42x2 9 | 39 42.5 20
34 30 M45 %2
40 34 M48x2
(3;‘8"2’ 57 | a7 50.5 22
42 0x2 36 M52 x 2
6 | Mi2x1.5 3 16 9. 12.5 M14x1.5
8 M14x1.5 5 18 | 11. 14.5 M16x1.5
12
10 M16x1.5 7 21 13. 16.5 Mi8x1.5
12 8 4 1.2 M20x1.5
M18x1.5 23 | 1s. 18.5
14 10 M22%1.5
]
(400) 16 12 14 M24x1.5
M22x 1.5 27 | 19. 22.5
18 14 M27x1.5
20 16 M30x 2
M 27x2 4 | u 27.5 16
22 18 M33%2
5 1.6 '
25 20 M36%2
M33x2 39 | 30 33.5 18 —
28 22 M39x2
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GB 38743.2—83

mm
d d I
3 4 dy ! 3 L L r s H &
A% | BB | A% | B P Ak | BE ' ‘ (kg/100f%)
R+ |®RZ | R¥T | RE R+ [ ®RE
4 6.1 _
‘ 8 5.5| 6.5 20 | 18.5 8 2.23
5 7.1
+
6 |10 s 10 7 2z | 20 10 3.15
7 .
8 10.1 1 8. 28 | 24.5 | 2 1 4.42
10 12.3 13 29 | 26 6.10
15
12 14.3 15 31 | 2.5 6.90
14 16.3 17 7.5 32 | 28.5 18 7.91
9
16 18.3 19 36 10.4
30.5 21
18 20.3 21 38 14.6
20 22.7 24 8.5 i | 3 24 19.5
2 | ,o.0| 27 26 13 | 38 a7 22.1
25 | P00 g 30 12 9.5 30 31.4
18 | 40.5
28 30.7 32 ) 34 32.9
32 35 38 41 60.3
+8'10 10.5 +8’3O 55 46.5
34 37 42 4 64.6
13 46
40 43 44 60 71.2
11 50.5
42 45 48 63 50 88.6
6 8.1 12 28 | 25 13 5.47
7
8 | 108 10.1 1 29 | 26 2 15 7.41
g v
10 12.3 16 21.5 16 9.51
7.5 31
12 14.3 17 28.5 18 11.5
14 16.3 19 36 | 29 13.8
8 21
16 18.3 21 9. 37 | 31 17.6
3
18 | o0 | 20-3 2 9 3 | 32 24 21.2
20 | %% 27 26 43 27 29.7
13 | 10 39
22 24.7 30 46 30 36.4
25 21.7 32 19 4 47.2
4 | 115 2.5 | 4
.28 30.7 36 51 36 56. 1
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